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The Background colour of warning signs in basic category 1s
asafisans GO e Wemyasdien alfad

&f Yellow (B) Blue
LD{GHEET | Heold

(C) Red (D) White
Seutiy Oleudraner

(E) Answer not known
slenL Qgflwallerena

Respiratory type PPE is used to

FeundSae GE iy PPE syeng . uu@u@@mg:
(A) To protecting the head

SO LITE ENES
(B) To protecting the face
(pESDS UTGIETES
(C) To protection against injury from outside the body
2 | aflenn Qeuaflypui@gdaeaiies ghuL samigw srwuhsalSmbg LUTSHSTES
@ To protection from harm due to inhalation of contaminated air
' SIE&SS(PETET &MTHenD HEUTFILLSTOD ghHLRID FeTusHeSlmbg LUNgETES

(E) Answer not known
eflenL Gsflweicdena
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3. The first aid to be given to stop the bleeding of the victim is to
urdlsasiiul Leuflen srwide @rss sfae flpss Qasrhssiur. Cousmgu
CEIER]

(A) Applying ointment
sefliby Gum.. GeauarHin

(B) Wash the wound in water
smusans Bl speu Ceuam(Bilb

(C) Dressing
s GurL Geuas(bd _

M Applying pressure over the injured part
srwubulL u@Huden 155 Sipsd Ggss Gaar@ib

(E) Answer not known
enL Gsfweldana

4. Tee Joint is used in
‘T’ @eventiiy LwGTUHSSUUR LS

(A) there is no mechanical stress required
SPpss elens Coemauuiereony @)L b

(B) appreciable electrical conductivity required '
Gungiorer serey Wlar sLggb Spen wHMD ABNIESLIT SeawiL
Cgeeuliuib L 1b

d tapped for service connection required
ufrwrer sLgdlsEpLer @enawriil] Qauiub @b

(D) considerable tensile strength required
Gunglorer serey @peians Caemeuliupid G b

(E) Answer not known
aflen @z flweiidene
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The special solder Ker-al-lite is related with
Spliy uppeeuliuner C&T- -l as@Ler Lam e wg

(A) Temperature controlled soldering
Qeuuflenenw s HUURSSID sredoL_fn
(B) Soldering with a soldering gun
UDDMEIGGD FIUUTES eped LDDMUSSH
(C) Dip soldering
gLt FmeoL M

{Efr Aluminium soldering
Sigyweflw smeL i

(E) Answer not known
eflen Qgflwaldena

The temperature of Electrician’s solder is
e Lierflwmert grefler Qeuriiflehe

A) 155°C (B) 165°C
(C) 175°C \Y'185°C

(E) Answer not known
' dlen Qsflweldena
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7. The reason of scarferd joint is used in large single conductor for
dGaitul. Qenertiiy gpen Guiiu sLgflsalld LwaTLHEGS ETrawTd

(A) Appreciable electrical conductivity
Gurgiwrer serey WeTsL_SgIb Hme

(B) Tapped for service connection
Caeneu @eneriiys@Ens@ CLUNGE ahiss -

(C) Considerable tensile strength
Gungiorar earey @peilans

' U?( Good appearance and compactness
Bobew Carhod wHmiw CpEmssELTes @amerlidhars

(E) Answer not known
alenL Gsflwaldrens

8.  Arrange the following in chronological order
sflurer e auamaamw euflensLHidss

What 1s the correct sequence of actions to take when preparing a

soldering iron for new soldering job?

e Ufw erellLfit Couames® @@ smadlLfn weamer gwumr Gediuwyn Curg
ahds Cauamgw Cewdaaiar silurear cuflens eremer ?

(1) Apply solder to the tip -
o) Fradlenylt LiweTURSS BiSeT
(2) Turn on the soldering iron and Let it heatup
sredlLilh wener QUGS &L T&Ea|b
(3) Wipe the tip with a damp sponge
GHieNepW FFTDTET uUTEhEle FienL &&eyLb
(4) Clear the tip of any old solder and residue
plafllld @mbs uapw erésbd wHmb srelll ey HHsb Gaiweyb
(6) Check the tip for proper tinning
(penenenl Mg iy erafin Qeluab

A) (2),03),®, 1), 5 | B) @), 4),3), (5), (1)

& @@ 6,006 | D) @), M), (6), D), 3)

(E) Answer not known
eflenL Gsflweldene
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10.

The value of electrical conductivity of copper
asruufler e sLGgIb WAL

(A) 35 mho/m W7 56 mho/m
(C) 61 mho/m (D) 28 mho/m

(E) Answer not known
eflen Qgflweldena

Match the following :
QumrEsgs :
(a) Battery . 1. Provides the path for electric current to -
flow
Sesr v WenGammiL umengenw euLpril@SE s
(b) Lamp 2. Converts electrical energy to light
_ energy |
e allemédi@ Beremmppree Getells gyhpers wrHndng
(¢) Current 3. Supplies electrical energy to circuit '
WerGamm_Ltb Beranrhpere WemaHm&E culpkiGS DS
(d) Conductor 4. Flow of free electron through the circuit
SL&H eravdiq rengatler g L Lb
(@ ®m © (@
o 3 2 4 1
B4 2 3 I
1 2 3 4
(D) 4 3 2 1
(E) Answer not known
eflenL GgRwailebenad
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11. How is the total resistance in a series circuit calculated?
Qgruir @earuibed 2 arer Qwrss WensenLenw semsdl{Hleug erliLig ?
(A) By taking the reciprocal of the sum of the individual resistance
@euQeunm gL @ sl samsdlB il dsras Qumeuse
LPGLD
(B) By multiplying all individual resistance
simandg WersaL. wHiLsmenud GLBEGSE (peLD

(¢ By adding the individual resistance together
Simarsg WarseL whliysaemyb sy Gupib widSer apab

(D) By averaging the resistances
Smarsg s s@Gd Fynefl samsdl(Heuser epeaid

(E) Answer not known
elten Wgflwelcrensy

12. How can potential energy be demonstrated in a practical example?
@ BLpan ThSHSHM g CumLadlud hpere ereueumm HlHGsEs
PlWb?

(A) By observing a moving car
& ST HeuetliLBHe epeoLd

M By noting a spring that is compressed or a loaded gun
FH&SULLL avllGflh sideg Corll guursdlew @dluugen epetd

(C) By measuring the speed of raindrop
- wapsgaiuler Coussas erell(Heuser gpeid

(D) By calculating the work done in lifting box
e Quiigenw gré@Geugen gped Gelwtiu L Geuameaamw senéd Hse

(E) Answer not known
aflenL Qaflueiicrena
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13. If the resistance in a circuit is halved and voltage remain constant
what happens to current?
@ WOearandld 2 dter WeargamL urdundl Weramupssd wIHTWS @HBSTD,
WBlesGastmi_L_Lb
(A) The current is halved
urdlung @Gepub
(B) The current remains the same
<ULy Gu @) mEED
The current is doubled
@l hiumgLb
- (D) The current is quadrupled .

BITEIN(E, DL RI&ETEGD

(E) Answer not known
eflen Qzflweideana

14. 1If a circuit with a resistance of 8 ohms has a current of 0.5 ampheres
what is the power consumed by the circuit?
8 ohm Wearser Qsrare em Wear &pm 0.5 wlluir WearGerm Lbemss
Qenamgphsre Wanahhléd LvweaTuBSSULBHID Snerr ereualare]

@ 2vatts (B) 4watts

2 auml_ 4 qum’
(C) 8watts (D) 16 watts
8 eum ’ 16 eum”

(E) Answer not known
eflenL Qzflweildenc
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15. The metalic sheath of UG cable is usually made of
Qurgieurs wsf Galaflan 2 Cars 2 apaer agarmd GawliuBEpg) ?

Lead or lead alloy (B) Impregnated paper
Qe sidvag Gl 2 Ceomsmser Qedlapl L L srélgibd

(C) Rubber mineral compound (D) Varnished cambric
Fuuf gaflo soene cunirefleg® CaswiaRs

(E) Answer not known
ellenL. Qgfluaeilcency

16. How does the construction of an U.G cable differ from that of an over
head cable? '
Beogzy Gaslalar eowiy  Coableow  GCablefdimbgs — ereusurmy
CeumiuBdlmg » ‘
(A) Under ground cables have no insulation or protective cover
W) Caldta@ns@ sy Swag UTHSTIL 2 D Bdama.
d U.G. cables use a more robust protective cover
.6 CaldTaEnd@, aueeurer LTESTIL 2 D 2 6Teng

(C) Over head cables use more insulation than U.G cable
w.gdl Galeargener el Cuofleow GCsldrasdr idls  @earaCosmaen
s rer(haTars o ' '
(D) U.G cable are only used for low voltage application
w8  Gasldsdr @Geopbs Waanpss vweaturhisErse wLHGW
. uweu@RssLE DS
(E) Answer not known
sllenL Ggfwuaicrency
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17. The test conducted to locate the faults in U.G cables 1s

" 18.

Uu.G Cslarsefle GdOUTHESaeT sa@TL_Hw b Cengean
CupQsmereriiuGdng ?
W Loop test
a1 Gengene
(B) External growler test
Qeuefliyp HQyerert Camgeanan
(C) Break down voltage test
9Crs Lajer CeureGLgh Cengenar
(D) Insulation resistance test
QenaGavgetn Ayflev_erev Gemgeanar
(E) Answer not known
ellenL Qzfwelicena
Ceramic capacitor typically use ceramic as
Qerlls QesuurdliL M Qeqdls eaearareuns LwsTLREDSE ?
(A) Anplate (B) A conductor
L6 (M - sLSHwS
(C) A semi conductor : M dielectric material
GDD LSS oL erewslfé Qumpenrs
(E) Answer not known
eflen Qgflwueiicene
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19. The mathematical expression for capacitance (C) is given by
Qaviur A aredlen (C) sanflls swerun

@A Cs= B) C=@QxV

_Q
oo

) C=

< Q<

(E) Answer not known
sflenL GgMwalilérene

20. How does capacitor store électrical energy?’
QasriudleLir Ber ypmena ereueury Cabladpg »

(A) By converting electrical enei'gy into mechanical energy
e Hpee @uBSAy YHDOTS WIHHELSET (paid
(B) "By creating a magnetic field around its terminals -
SFE pepSMUEISMET &HNl G(F SMhS LQSME 2 (HeU T @GSN pLPELD
g By storing electrical energy in the form of an electrostatic field
Bleraflwd Yagder cugeugdler e ypmene GCeslliuger epalb
(D) By using chemical reactions within its plates .
Sigen  SLOEERSGHET  Gremuar  adicllevarsemerls  LeTL(HlSgcuSer
eLpeuLd
(E) Answer not known
aflenL Ggfweldena
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21,

22.

23.

How many lamps are required for parallel operétion of two 3 phase
alternators?

Grer® 3 Cuav YoLTCarl Lisemer L&s @il Geudu{ss assmen
ellatd@ser CoamauliLiElanpen ?

&) 3 G 6
(C) 8 : (D) 12

(E) Answer not known
adlen QgMwueildwene

The condition for paralleling of alternator is
L rGam LT Guyeai Qaumgm@rﬂu Blubgener

(A) Power and power factors are same

Hmen wHmb Hpersrrasil swwra @)méEnLGUNS
(B). Voltage must be different

Bamenpssd LML G @msEnéunsg
(C) Polarity must be different

Quremiliy wrpul G @méEEnEung

\M Frequency must be same
Smae|Ceausd FWME B)(HEEGHLGEUNE)

(E) Answer not known
ellenL Ggflweldenc

Frequency of the alternator is depends upon the

L TCarLfer ienaveyGeustd &g Qurpsg wrRURHD.
(A) Voltage : (B) Current

LBl e (&S LD WesrGeormL_Lb
V Speed (D) Power

Causd , Sme

(E) Answer not known
ellen Qg Mwelcrena
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24, Hydrogen is used to large alternators mainly is to
Quilu g oL iGarLiseiidy eanl rmes (Wpa&Hwuwng LweTLHSSIUG IS

(A) Distortion of wave form
Geucu umirand AengeynFElFUiu

(B) Strengthen magnetic field
SMhgLILOSS LdLILhSS

@f Cool the machine
Bupdlrses Gallriubss

(D) Reduce eddy current losses
ey SIS @lolients GMDnES

(E) Aﬁswer not known
dilenL Qgflweldrena

25. Frequency (f) of the alternator is given by
oL rCar L fer oeneeyGeusd

120 PN _
@ N1 120—f

N _ P
© 2op=! | D 2on =1

(E) Answer not known
cllenL Wgfiweldena
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26. Why damper windings are used for 3 phase alternator?
3 Guav gL rGar Lirsafled GLbuim eneuetig i ger LWSTLRSSILHHDS ?
(A) Reduce the starting torque
gleu&as spHnsdnamens Gmnss
U To prevent the hunting effect
aner_gh cileearenels H[H&sS
(C) Reduce the losses
@ lLsameTsd GHMmDnsEs
(D) Increase the efficiency
elenangdlpenen siflsflss

(E) Answer not known
efien Qaflweildene

27. In star connected alternator. If the line voltage is 415 V. Phase
voltage will be

aoLmr Gevewriiy pdLiGar LAld eaedr eranupssn 415 V eafle Guav

10 eram(LpS LD
& 240V (B) 230V
©) 200V - (D) 220V

(E) Answer not known
allen Ggflwellcrenaw

28. Single phase portable generators are generally made in the range of

Smdlar Guev GumrLGer QearGrlLrerg Qurgeurs auydI9led
QevwtiuhSpg. _ A
A s5KVA (B) 50 KVA

(C) 500 KVA (D) 1000 KVA

(E) Answer not known
sllen Ggflweildene
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29. How does the excitation of a synchronous generator affect its power
output?
Arugiarey QmenGri M GeueflulCiu@id <doed aeueurm Lundsderng ?

(

(B)

©)

(D)

(E)

Increasing excitation increase the power output
giagm@hsome sifsfiug e 2 husdeow sidsfsdpg

Decreasing excitation increases the power output
grampsame Goprug Wer 2_pusdowu igsfsdng
Excitation does not affect power output

giaT(se Wer 2 HusHenw LTHssng

The power output is only affected by the load

e 2 Husd senwwred wiGGwL urdssliu@GEng

Answer not known
cflen Ggflweldena

30. The V-curves of a synchronous motor show relationship between

frugfNarevy CGuriimflér V-euenereyser QencumeuameupdigG QenLCGuiwimenr
QsmLienus srHilemmen.

A)

(B)

o

D)

E)

Excitation current and back e.m.f
Aerirgd BanGarmiL(pib NerCensg Wlenafluis@ edlanauyb

Field current and power factor

Yo BlenGarmLib whHmibd ueuit Gu&LIT

D.C field current and A.C armature current

Cridlers 9e e WenCarmiLib whmib wiydes Blerens BlenGemmt_L_ib
Armature current and supply voltage

DTG T WerCetmi_L1b whpb Fuemer Weramn(pssb

Answer not known
eflenL GQasNwaildena
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31.

32.

A synchronous motor connected to infinite busbars has at constant
full load, 100% excitation and unity p.f on changing the excitation
only the armature current will have

geemeWbhD uvsvUMTSEELeT @emarsslull  esSlesupp Cumirflen
Peoodear wy sow, 100% o mwargd wHmbd (unity) epmew p.f
Weranagens WL (M wrhod Curg (L Tws@T) Werars WarGarmiL Lb

(A) Leading p.f with under-excitation
GMDeUNS 2 (Heum@Gld (peananfl 19616l

( Leading p.f with over-excitation
Siflawns o (meum@h (penarenfl 14.6TaH0
(C) Lagging p.f with over-excitation
Gemgridin (9.67e%0 SFSWwrs o (HeuT@
(D) No change of p.f
Gl.erebls @led wrHmb @levenay

(E) Answer not known
efen QsfNwelldrenar

The motor suitable for loads where constant speed required is
wrmrg Ceusb Caamautiuiib CaorhsErsE urmssiorar G LT cums

(A) Single phase motor (B) DC series motor
HAmudfler Guev Guommir & Eflevy Gum i
( Synchronous motor (D) Squirrel case motor
. Sisreey Guoml L mi . ev@fGaev Guorimr

(E) Answer not known
e Qaflueiidane
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33. The field of a synchronous motor is under excited, the power factor

will be
@ SAusyarsv Guorllmi @it esamenGLsar o6 @ medpg el
UeuTGu&LIT D& B (MmEELWD.
(&) Zero G Lageing
gund Ceovdlry
(C) Leading (D) Unity
' &Sig ' | wpefli iy

(E) Answer not known
ev Asflwaildena

34. How to compensate demagnetising effect due to armature reaction
in an alternator?
2 TEFGE:T Aursasearmed oL TfGarlLfld ghu@ib y-Csaran &k eflaerane
eTeueumm (R QawwGeue(Hib ?

(A) Reducing the field excitation current
S arsamevCLsen setaneus Gannss Ceuair(Bb

Ey Increasing the field excitation current

Ho@h ersemenCL-sen setaney HflaMas Geusi@ib

(C) " Reducing the speed of the alternator
g dLCarL_fer Ceussansg Gamss CeuaHibd

(D) Increasing the speed of the alternator
DL TCan_LNer Coussgang Hslss Ceuamm@Hib

(E) Answer not known
alen Ggfwaierana
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35. At leading p.f the armature flux in an alternator rotor

flux.
wpenarenfl p.f-@a goLiCanfad 2 der < iQweGT Slarden Cpmiim
collETEHENEVE
(A) Opposes ' M Aids
AN AN Y 2 Fa|GP
(C) Distorts | (D) Does not affect
AevgliLig, undlésng

(E) Answer not known
clen Qsflwalwena

36. Sharing of load by two alternators running in parallel can be

achieved by
&0 0Gleeller @i @rarh oL TCHLLT&@EEEE FMLSMET LlTeugred
, D SNL_UIGITLD. :
(A) Change of excitation (B) Change of speed
gerLableb rHmLd Geus WwrHDLD
M Change of Prime mover input (D) Change of Armature

Qenyd et o arefl iqest LIHDLD <2 Q&G T IHDLD

(E) Answer not known
elenL Qghlweidena
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37. Some engineers prefer lamps bright’ synchronization to ‘lamps dark’
synchronization because

floo Qurhurerisdr ‘elars@asa Qmar @sdasoe A ‘Grsrswrer
gsflensancy lmpwLSpTiser elemetd

(A) Brightness of lamps can be judged easily

dlersgaafier Ursneseng erafigrs SrwnafléEs apigub
M It gives sharper and more accurate synchronization

8a sairepwreT WHHLD WseD geadluwrer giflesmeu upkiGADS
(C) Flicker is more pronounced

 vefissi Gergb o ésfssiiupdng

(D) It can be performed quickly

3ng edlengeunas ClFuiw (Lpigud

(E) Answer not known
eflenL @g,rﬂu_l_aﬁ]ebmcu

38. Alternators designed to be driven by steam-turbines are built for
Brrell eflevswmfsarid @Qwss eugeumLESLULLL oL fGar i aghers
2 (lheum&s LU (HETeTes

N(Ay High speed opération
2 Geus CQFwdurfp

(B) Low speed operation
GODhs Geus QFwueun(

(C) Medium speed operation

lgwrer Goug GFwdum

(D) Both low and medium speed 6peration
Gopbs WHnIL FHSsT Ceushd yfu @rarH b

(E) Answer not known
‘ellen Ggflweidweana
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39.

40.

Adjusting the speed of the prime mover of an alternator is primary
necessary. Which one of the following is the reason for this?

g dLrGar i ygrer @Quadlar Ceauasgans ofQeicug pserentowmer
Sleudluib. Qereumeuaneuphiley erg GEHaTen STFeRTD?

Qy To get constant frequency (B) To get constant voltage

Hlenowren oifliGleusm Gl Bleroowrer Wenarpssin Aup
(C) To decrease output (D) To get increase frequency
' BI(HGL (PEOSITEE (GNDES - afirCeue- sifsflss
(E) Answer not known
cllenL Asfiwailcrens

The function of synchroscope to
HrCrrevGamunfer Qawedur@

M Indicate the correct instant of synchronizing two alternators

Qren® o iCrlLismar gsHesiugpater sluTeT FHETSEOSH
GDé6
(B) Connect the incoming alternator to the bus bar
2 @Teu(hLD L TGHLL T LIELIMHLET @) enaRTsse, b
(C)  Adjust the frequency of incoming alternator
2 @reu(BLD Y@L TEBL LT fiCeuamanans Filbsliuia)b

(D) Indicate the correct phase sequence of the incoming alternator
and bus bar
2 @reuhld <2 OLIGHLLT whpd Gevunfler sflwrer sl euflensapwis -
GINE TN

(E) Answer not known
alenL Qzflusiicrena
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41. NPN transistors preferred over PNP transistors because

PNP  grrenellevmég uwdeors NPN  goraelleviisdr  Caipg
er(h&sLu(heug)
(A) Higher barrier voltage

Sdlsworer Cuflwi Werarpssid
(B) Higher resistivity value

<ifls Qraflevigeili iy AL
(C) Higher current carrying capacity

BenCGarmi L gens sTHED BieTey S
- Higher thermal stablity

9fls QeuliLggTe WIHDLEL TS SETenLo

(E) Answer not known
eflenL Qzflweldrena

42. provides the highest average DC output voltage for a
given AC input.
Qarhésuu’ L g8 Qe yherar sfsuls  syrefll gd eyl
Senenpssbons aupiiGSng.
(A) Half-wave rectifier (B) Full-wave rectifier
anmi-Geust Qréig e Ww@-Ceush QAyéigeenuiwiir

d Full-wave bridge rectifier (D) Semi wave rectifier
wpp-Ceaust LML g QArdigemuwii QFd Geuel Crdiganiwi .

(E) Answer not known
alenL. Wgfwalildbana
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43. The element that has the biggest size in a transistor is
@ yrreaflev flé WsnQuilu 2 (men Siereydrer ereGehL

SLGWD.

\(y Collector (B) Emitter
sllesLir erOIL_LIT

(C) Base (D) Collector-base junction
Gueiv sGlesL-Cue sphiages

(E) Answer not known
clerL CzMweidae

44. In a bridge rectifier circuit, the output ripple frequency is
Ufll gy Arsgenuwi grdyl, el Auuer 9M@euers

(A) Equal to the input AC frequency
@ery g8l 1Afl@GeusanflE@, Fwb

(B) - Half of the input AC frequency .
@eryr gl 19f@Geuendludlen Lind)

M Twice the input AC frequency
@ery g& Qflgeusndl Gumed @ram® wikiE,

(D) Four times the inpﬁt AC frequency |
@erL oél Afl@Geuendl Cumed prenE WLHIE

(E) Answer not known
- ellen_ @z flweicrenc
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45. The typical forward voltage drop across a silicon diode is
@ SAdlsamar eLOumgen (HUTTauT®) eTCaTTé@E oUW UPESHONS
Werren(pssd sremriiLSng

A) 02V @/o.w
© 12V D) 1.5V

(E) Answer not known
allenL Gsfiwreidvaney

46, Why is a transformer used in conjunction with a rectifier in power
supply circuits? _ _
@@ Qr&goeanUT FTELL 1Gd 14 TTeTenLMTON eer 2 seydlng) ?

(A) To filter the DC output to make it smooth
DC sieyyl e Quarenowngs QoL Qg

. {y To convert the AC voltage to a different level
AC Weranysssms Cam Hlews@ LIHH H@LES
(C) To increase the frequency of the AC voltage
g8l benanpsssdern AN Gaueadflaw fsfss

(D) To store electrical energy for future use
adisre LweTum iy hars Wer ynnmas Caldss

(E) Answer not known
ellen QgMwalerana
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47.

48.

The reason for tripping the UPS with full load?
appCGan® Beverude UPS cAuldn eeughsnear sryard

(A) Main supply fuse blown
Quuller sliemer e eriib(mES0

Incorrect overload setting
gauCar® Gelgh seuprsulmsse

(C) Battery charged only 75%
Guif 75% v @b s HAmHSS5H

(D) Battery over charged
CurL® e oifls s adulmsseo

(E) Answer not known
cflenL Qafweiloena

component in a UPS is responsible for storing energy.

UPS g gy pperas Cailtiugh@y LWL SSILHEDS).
(A) Transformer Mattery

L] TG G LT LD Gui_LM
(C) Inverter ' (D) Capacitor

@anleurri E2AWTHY ¢ [l

(E) Answer not known
clenL Qzflweildena
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49. is the input stage of an inverter.
ereLigy @enbleui el @emyL Hlemew

(A) Battery (B) Driver
Gurf g e eu T

g Switching circuits (D) Transformer
sl Ay sHOisET G- JT GG o LITTLDIT

(E) Answer not known
eflen Qgfwaldene

50. _ UPS.topology is typically the most cost-effective.
UPS auas srgmyermons gopeurar Qeawmais Qaarramﬂ_gj.
(A) Online (BY Off-line
<), GBT 61 VG Dfyaall - GHEVEIT
(C) Inconsistent ' . (D) Double conversion
Erhm LL|eT &ere Tagelt

(E) Answer not known
eflen GgMwelcrened

51. component might be blown out if the UPS works on
240V Ac mains but does not operate on battery?

wlleren gyarg 240V gfl Quuiersv apowns Ceaume Qsidpg, c*gbeﬂrra)
CuiLfl Quiiseilchaney eremmmed, BishHE eTeren STFERTLD

(A) Battery (B) Charger
Gu &gyt

g Fuse | ' (D) Inverter
Ay 6o . @enbleuir

(E) Answer not known
eflen QgMweidvene
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52.

53.

Addition of binary number 101 + 010 =

Memeu(md enuenl aTamsamer ml (Hs

101 + 010 =
(A) 0000 (B) 1001
Gf o111 (D) 1010

(E) Answer not known
cflen QgMweidama

What is the hexadecimal representation of the decimal number 2557
QLflineh erair 255 @en Qansen@LHiod @HHSEH erg ?

M FF \ (B) FE
(C) FD (D) FO

(E) Answer not known
" ellen Gsflwelidena
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54. Logic gate refers the truth table is

Input | Output
A|B|Y=A+B
010 1
01 0
110 0
11 0

Laps CLiG@ns@ QammyeLw orgdls Gal

@eryl | eyl
Al B|Y=A+8B
00 1
011 0
110 0
1)1 0
(A) OR (B) NOT
CJ NOR (D) AND

(E) Answer not known
aflenL. Qzflwueidena
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55.

56.

logic rates are typically used to design a combinational

circuit
smb9Carageandd sTELLsmar  eugeuamndgs GQurgeins wrgdls GCalev-&er
e & e me

\(y AND, OR, NOT (B) VFD, VVVFD
AND, OR, NOT VFD, VVVFD

(C) Flip-flops ~ (D) VFD, VVFD
S@eflCimiiser VFD, VVFD

(E) Answer not known
e Qzfwaeiidana

Why are resistors with lower tolerance values (higher precision)
generally more expensive?

Gophs Lrageray wdHuyser (sifls gioadlu) Qaram  blearsenwriger
Qurgleurs et 3Ha allena ClaEram_emeu ? : :

(A) They offer higher variability

Sipal Sifla rY UL culpk@Gdlamer
{Bf They provide higher accuracy

Simeu fls godlwusans aupriGdletpen
(C) They offer lower variability |

DM GBS WINUIL L auLpEIGSeTmer
(D) They provide lower accuracy

Sl G@DHS FIDlSms auLphiGSlemnet

(E) Answer not known
eflen Qgflweildweane
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57. Potentiometers of carbon type are available in
griuer euams@er Qur’ QLardlCunBlLiser erhg euamaulia fensdlapen

(A) Linear type only

deflwuir euens WL (i
(B) Logarithmic type only
n&a&fSoE cuems WL-(Hib
(C) Stepping type only

Ligiflened eueng ol (b

‘ Both linear and logarithmic types
edlaflwi oHmIb orEsEMASOE euansgEer -

. (E) Answer not known
eilenL Qghlweldana

58. InaBJT _ _configurations is used to amplify signals with
high voltage gain.
a@m BJT @@, 2w CS@JG‘DCSLB(’% Callen Sfsemdvaamer w@dlanu s
1y

vweTu@SSLILBE DS
(A) Common Base Common Emitter
grwer Gue _ SMDGT GOl LT
(C) Common Collector (D) Common Gate
&Srwer HsLadLir srwer Gal

(E) Answer not known_
alenL Ggflweidena
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59. If a resistor has the color code Blue, Grey, Brown and Gold, Then its

60.

61.

resistance value and tolerance is

em Qréldoi Hps GOSE Beow (Blue), srwvud (Grey), uguy (Brown)
womib (Gold) shsd aaugrs mbstd, isd Qrflevisre wHiiL wHHD
LTeujema

(A) 68Q+5% (B) 68KQ 5%

f 680Q£5% (D) 680KQ+5%

(E) Answer not known
- eflen Qaflwshidene

In a standard potentiometer, how many terminals it have?
@@ Hepawirer QurQLenGLmbi LMo, erggenan Qmblarcsar o drerer?

@ 2 3

(O 4 . — D) 5

(E) Answer not known
eflenL QafNweildene

In transformer, electrical energy is transfered from one circuit to
another without change in

g grerevumiofed, Wer e pporang @ STl -0 Q@wbs WwhHbprerdlhe
wrHpLubt Gurg wrpmbe @mULg

(A) Voltage : (B) Current
Blemanpssid BlerGarm L Lb
Frequency (D) Turns
Sl A SHM) FHeT

(E) Answer not known
- ellen Qaflwelidvene
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62.

63,

Pulse transformers are used in

circuits.

sHmsefies LweTuhHEpg.

LIGD6) GUENE Ig [TTETEN LIMTLOTSET
(A) Electrical circuit
e &Hbled

(C) Automobile circuit
U CLmOwmenued &hHbléd

(E) Answer not known
cllen QsRwelicena

(BF Electronics circuit
Wletresrgmi & hible

(D) Welding circuit
Gleudog.ris &mhbled

If the load of a transformer is halved, the copper losses will be

reduced to

g rramevLmTofey Cor® oere) urdwns Gopbstd Qb @UL SeTey

GePDULD.

M 14 times

Y4 g,

(C) 1/3 times
1/3 wLmg

(E) Answer not known
eflenL Gsflwealicrene
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(B) % times
3 LDL_TEI(5,

(D) 1/8 times
1/8 wLmig



64. Why the copper losses are not considered in open circuit test of the
transformer
@ Werompdlulieo Sonss sbm Cergemende srdy @iy gear sewsdd
Qanararmoed seNisastILBED 2

Qy Due to small current

G@DBS ertey WBlenGarml L b sryenrons

65.

(B)
©
D)

(E)

Due to high voltage drop

sifls Dearpss pFfl srreamors

Due to maximum current

aifle gjere) WG LIb SryeRTons

Due to coil resistance
amuiedlen Wangant SMyeRTLONE

Answer not known
allenL Qs Muefdana

Generally the transformers has the efficiency of
Qungleuns e Wernrhdluler allenengsl e

(A)
©
(E)

40 to 60 %
70 to 80 %

Answer not known
aflenL Qgflwaidena
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(B) 60 to 70 %

.\(y95t097% .
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66. Why a stepped core arrangement is used in large transformers?
Quile serefleorar  Weamommduiea avdiu®@ Casmir  oewliy e
SnWw&ELUHEADG ?

(A) To minimise iron loss
Gooy Gy Gonss

(B) To minimise eddy current loss
6Tlg- BRI @IPLIL| &HODES

(C) To minimise hysterisis loss
aflavLflesv @iy Geopés

y To minimise copper loss
@eby @holily Gaonss

(E) Answer not known
eflen QgfNweiidana

67. The material normally useéd for transformer bobbin is
wremeoLmTofer Lmdler Qummermed QaeiwiuBEDs.

Fabric basic hylum (B) Wood
»GuAfs Cuéls eaneib LDLD

(C) Aluminium sheet : (D) Plastic
S@ilailu &6 1GeTrenig &

(E) Answer not known
aflenL. Qzflweidena
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68. How many magnetic paths Radina Berry type transformer?
Qrgerm Guifl euens WemrnmhHuied srpsl LTmgsallar aaraféms ereicueTey

69.

IAIEIGIK

(A) One
QeI

(C) Three
(pesTl

(E) Answer not known
sllen Ggfluaiidena

(B) Two -
Qrawh

m umerous

SJTMGTLD TS

Why the crackle test on transformer oil is conducted?
g greevLmini uieldr Hyrsdle Cangener g elwuGEpg) 2

(A) To find acidity
Sflagsetenn seavr- D

(C) To find viscosity
uTSluie semenl SeTLHiul

(E) Answer not known
ailenL Qg flusildbana
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(B) To find moisture

FIOUSLD SetorL_mlwl

MI‘O find dielectric sfrength

L aTesL Mg euedleny Getor Hlus
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70. A Buchhol’z relay shall be installed in
@@, ysaraeay fGwansy & Blmieu Geuar(piib.

(A) Auto transformer
<L CLr Wemmhl

(B) Welding transformer

Ceudgri Wemwmhl
(C) Air cooled transformer

&THm eped @Gafllghiu@sgin Wemomhbl
d 01l cooled transformer

eram@enTy el GeNFuuBSFID Wemonhh

(E) Answer not known
cflenL QAgMweilcveney

71. Non flammable of transformer oil is
Suupprs Wemonhdl ereilewri

(A) Mineral oil (B) Silicon liquid
WS eryed eretor(ol evurii Allssman Hyeuid
(d FR3 fluid (D) Paraffin oil

FR3 fyeup ' Sumpiilen erasmlemn

(E) Answer not known
aflen GQgflwelldvana
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72. Why primary of potential transformer is wound with thin wire and

73.

large number of turns?

Sersipss Wenomphludledr Geoqwfl smlid Gwddw guir wHmbd HHs
eTaiTent Senaufled erett &HDUILIL (HeTerg) 2

V To offer high inductance

Si5s FISTL_ 0 6ULPEIS

(B) To obtain required voltage ratio
CaurebCLgy eflflgsens Gum

(C) Toregulate the primary current
' Gerpwhl WaTCarmLgeng s Huubhss
{D) To stablize the input and output voltage
o &1 woHmb Ceuefll Wenarpsssms Hoe Bnss
(E) Answer not known
eflenL Qzflwelcanc

How does the moisture is controlled in breather fitted on power
transformer?

LU e mhHlufed o _éiar Qflsseded FFILIUSLD GTEUGLITY
sLAUUGOSSLUGSHDG ?

(A) Using sodium chloride

Cemquib @Germenyh LweTLHSSIFHD

@/ Using silicon dioxide

faflsaren e ysbmavlh LwaTLHESISD

(C) Using magnesium chloride
Qusaifluw GGemmay® LwWETURSSISH

(D) Using transformer oil
lgJreTeuUmioT erar@ent LweTUB SIS0

(E) Answer not known
cflenL Qs flusicvena
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74. Important characteristics of transformer oil is
Westompf erasrGlemrufen (p&Hlwiwomem Ly

(A) Lower flash point (B) Low dielectric strength
Gaphs Mermev Limullair Gonss Wersmii euelanio

(C) Higher viscosity d Low specific resistance
28 s 2 weGsemeLn GODHS @enew WleTsenL

(E) Answer not known
sllenL. Gzfwalevene

_75.  The dielectric strength of transformer oil is expected to be
G ITeau,LIMTDT pulledlesr enl eTasl M& euadlano

@A) 1kV G 33 kv
©) 100 kV (D) 330 kV

(E) Answer not known
cflenL Qzflwelidena

76. Working principle of the two winding transformer
B(m eeuamy i 1 FremevLmToiseien oG uumLwTer GIWkIESSS el

(A) Self induction \(y Mutual induction
Qgedis @eme &aein B geudd Gem_gae
(C) Principle of DC motor (D) Lenz's law
" w8 Gorlort ggeub T Gleverey eom

(E) Answer not known
eflen Ggfweidena

438 — Electrician 38



77. Why laminated core used in transformers?
rrenevumfiofe GalGar L GCamr uwetuBsgeuger Crrésb ereme ?

W Reduce eddy current loss

78.

(B)
©

)

(B)

&Tly ST @I GamSEeH
Reduce hysteresis loss
alevfflev @wlienu @SS
Reduce mechanical loss
Qwéarafléad @ UL @Dz
Reduce copper loss

STUUT @plieu Gendse

Answer not known
eflenL Qzflweildene

Why scott connections are used in transformer? ,
@ Wemorhbluid svsm. Eenariiy eaghans uwemURESsuu@Hng ?

(A)

(B)

Single phase supply to two phase supply
Araudler Cuev FueneTuiler @)(HHG @ram® Cuev sliener er(H &S

Single phase supply to three phase supply
Srudler Guen slieneruiledd @ mbg eperm Gusv slicnar erhidhs

M Three phase supply in to two phase supply

D)

(E)

epenm Guay slienarler @mbg @ranh Guey slianer T(Hi&Es

Star connected primary in to delta connected secondary
et @aenentiil Yengfluled @mbg QLdLr @eaeniiy Qaserfenw
TH&s

Answer not known
oflenL Qaflwaildene
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79. Which loss of transformer is determined by short circuit test?
gyremevumiofler  ehy @iy e sty Gergeer  epab

SirwrafléstiuhEng ?

(A) Eddy current loss (B) Windage loss
6Ty sreT @ty efleirCL gy @ty

(C) Hpysteresis loss ‘(y Copper loss

aflevL_fdlev @ity

(E) Answer not known
aten QgAweiicvena

STUUT @l

80. Why no-load test on a transformer is carried out?
g rerevLmmofed Crr-Gar@® Cersmen eear GeliutiuBGdng ?

(A) To find copper loss
STUUR @O serTéalL
To find magnetising current and no-load current
Crm-Gan® syl sewsd.

(C) To find magnetising current
CusarenL_ediiy et serTsdlL

(D) To find iron loss
S @l semadl

(E) Answer not known
eflen Gsflweldana

81. Kit-kat fuse cut-outs are made of

AL srl Slyen &L -oie ang) — D g

@/ Porcelain (B) Glass wool
Cumidl el SETETITly. SibLieH)

(C) Polystyrene | (D) Cellulose
Lirelletvent_iflebr QeergnGamen

(E) Answer not known
eflenL QgMwaideansy
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82.

83.

A fuse in a circuit provides protection against

R ST&ELLL 196 o aTem (b wey erdlyrs urgIGTUML euPRIGH DS
(A) Open circuit

Sops Wlarspy
(B) Over load

2fl& Fenn

Short circuit and overload
GN&EG WensHmi whmb Hs senw

- (D) Open circuit and overload

Sohs Olerabn wHnD nfs &

(E) Answer not known
cllenL. QgMweilcwency

Relay has a special arrangement to operate when the
current drops to a pre-determined level. ] |

- - MG yeang apery Srwnallss BerGarm L yereflen Spna
@epuyb Gurg Qeudu@b euemsudd memmumu Qupmererg.

(A) Voltage sensing relay

Under current relay

Blerran(pssld 2. amisgin MG Gophs WerGem_ L NG
(©) Electrorhagnetic relay | (D) Thermal relay |
Blenanpg MG QAzirned MGa

(E) Answer not known
dlen Gsflweiidanar
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84. Why stair case wiring useful in multi-storage buildings?
uewmg sligl mgeafled avGi Caev quifii e LwaydaTsrs 2 drerg) ?

85.

A)

©

It reduce the cost of wiring
puiii ailera GmpULSHEES

It allows the lamp to be controlled from both the top and

bottom of the stair case
auGr Gaev euwfin ECp Qmpgib wHpb Cuwle Gmpbgid eflasms

- sLHLESS

It minimizes the number of switches required
GODHES Slerey Helll & CaaneuL(HieugiTed

(D) It sumplifies the electrical connections

(E)

Ble @lenanrliser eraflsns @)més

Answer not known
eflenL Qsflweldena

Why are relays used in electrical systems?
sl Mg favgdle MG ger LweTuGSSUUHEDS) 2

(A)

(©

To manually control the opening and closing of circuits
anguienmer ser’ Crmed Geawg Wenapenn Spsseyd epLeybd

To automatically open or close an auxiliary circuit under
specific conditions in the main circuit

safsgien flubsamanurd geew Warahhlar epan Cwular spHe
snanns SDhg Swag e &EbaTerar )

To increase the voltage of the circuit
WBler spdlesr CounraGLgh sifafés

(D) To measure voltage and current levels in a circuit -

(E)

Wlerabied o arer Wemampssd whmb WlCTTL L Sang 6Tl

Answer not known
eflen Ggfweldana
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86. How does the diversity factor the current demand calculation in a

817.

circuit?

@@ Wargbbldr eeuidl iy CusLfd sreml wraa . samsHHialg erliLig ?

(A) It increases the calculated current demand
semsd®H Qauis syamger Camauamu ofafssh

Qy It decreases the calculated current demand
seméd®H Qouis sramgen Cameaumu GmnssH

(C) 1t increases the calculated voltage demand
sansd® Jewg Weranpss Comaimu flsissa

(D) It increases the calculated power demand
sensEH-Qalgs Hper Comeramwu ofsMNssd

(E) Answer not known
e Agflweildens

Ho-w much height should socket-ouﬂets be installed in bathroom

according to the BIS?

BIS gremanfleruyg @eflwd simpuia srdl el ol adieiemey o wnsde

meuss Ceudm(®ib ?
(A) Lessthan 100 cm
100 cm &5 sanpeuns
(C) Atleast 130 cm
130 cm & Gonbss

(E) Answer not known
ellenL Qgilweilcene

(B) At least 120 cm
120 cm & @opnbss

anctly 150 cm
150 cm sAwrns
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88. How does a current sensing relay operate?
sreer Qeendln NG ereuaimmy CGeuane Gawiflng ?

(A) It operates when the current in the coil reaches a lower limit
amlilelley @ephs Setey WenGearmL b GadgbGurg

(B) It operates when the temperature changes
Geutu serefed wrhobd eHuEd Curg

(C) It operates when the voltage exceeds a preset value
9fQg sereneu el Wenan(pssd AflaflEEn Curg

d It operates when the current in the coil reaches an upper limit
Lﬁlm@mrrl_l_mrrm@ amulladler 2 WML SeTene &L &@Lb Gurrgj

(E) Answer not known
cflen Qg flwelcdrana

89. How is one cycle of alternating voltage or current defined?

wryflens Wle@rGammtLib/Ifenar(pssssia @ SpHE GTELGLIT)
cueTUMISSLILR S D) ?

(A) As one half of a wave with a constant polarity
Blenavwimar et Flensuiled g ieny HOI

(B) As the interval between two successive voltage peaks
Bm woasEpsE @l Cu fls bleararnipssn

@ As one complete wave including both possitive and negative
alternations
Crmoenm wHMID erdlioenm W6 wenaudles pp FHL

(D) As the period between two zero-crossing of the wave form
Wlermr siemavullenr Gremh eSGym a‘,hjrra:ﬂrm @am_(‘éu_l 2 6Tem STaLD

(E) ~ Answer not known
efler GsflwefNdena
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90. The function of third pin in three pin plug top is
epaTmy (penar Slersdled epenmreug erefler LweTLmE

91.

(A) It connects live wires

WBerGamm_L b Qadaud enaey uifley Benantés

(B) It connects to the neutral wire

WBenCeanrm_Lib Gadentd Bluyged uifies @emenmss

M It connects earth wire

e 2 Len @enawiienu Guoplgmearer

(D) It is used for additional live wire

FHzd e guitd LwgubHsS

(E) Answer not known
eflenL Qpflwefcena °

How the capacity of batteries is specified?
GuiLf Qalurfily. ereusuniy @M&sLuBEng 7

(&) Volt

GCeumeb_

(C) Volt Ampere

Geumedl_ gy d9wir

(E) Answer not known
eflenL Qzflweiweney
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(B) Watt

GUITL

Ampere Hour
DN @meurr
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92. How is local action prevented in azinc‘ﬂ(sedin a cell?

Qecbelled 2.eTem FFHHETE SH L evar Condsd sepaild @(HbHS ereueummy
UTGETULIG ?

(A) Coating with thin layer of copper
sruui Garlyhiens Shu sierelld Caissd

Amalgamating with mercury
Quirgflerw meuss wrdsGuagen Qeligd

(C) Immersing in concentrated hydrochloric acid
wanl Grr Gatrils sillwsHd opps meugse

(D) Coating with layer of a gold
SHIG (LPEOMD LL&HSHED -

(E) Answer not known
aflenL Qzflwelevena

93. How is a metal deposited on to the surface of anothér metal during -
electroplating?
s Gy 9Gari gy QeuywGurg @ 2 Corsnd wHADTH o Corssder
Guhurinie eréueurp GLurdll Qedwiu@&pg 2

(A) By chemical reaction (B) By thermal evaporation
‘CGeuglefenar wrHmaHen epeotb Geuiub peflumged apeoth
(C) Physical deposition By electrolysis
lssed QLumrdaer epetb are_Grmenedlen epaid -

" (E) Answer not known
ellerL Ggflweiidane
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94. The chemical effect of electric current is
aT&EMg sramgen Ceudlwue efleneray

95.

(A)

The production of heat
@eutiub 2 meum@Eb

‘y Chemical changes caused by the passage of electric current

©)

)

(E)

through a liquid
2fle sersé auPGu WarGamLb urywCurg Geufuwe wrHHD
FHuiID | | |

The formation of magnetic fields
FhG OGO 2 (HEUM@GLD

The physical dissolution of metals

2 Goonsgdler Gubduied semenn wrpLHL

Answer not known
eflenL Gsflwelwene

Why the vent plug is kept during charging of a battery?
CuirLfleow grigin GeuybGurg deearl Yarsms ogear Sppg oeuss
Geuanr (b ?

(B)

©-

D)

(E)

" To escape the gas freely

cumy -eraflgna GeuetfiCupneughésns

To allow oxygen enter 1nside
Spsedimanar 2 aTCer Gadver Big@ILdGs

To check the level of electrolyte -
sl Crrepeul g e wi L Hang Comgeaner Qi

To check the colour changes in the plate
9Gar et Flpd wrHnsens BiHut

Answer not known
allan GlsMweldana
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96. A transformer connected in the star connection is typically used for
Bemomfl (transformer) sefléd corm @evenriiy ergp@ LwenLGEDS 2

(A) Reducing the line to line voltage
eaear-amaar CeaurdGLs) Gonss

y Providing neutral point
Bl Té umieT Biemn&s

(C) Handling high current

- gfle WenGarmiLSeng ensuimer

(D) Increasing the line to line voltage

anever-enevarn GCoumedGr_gy siflsfses

(E) Answer not known
aflenL Ggmwelldena

97. In a three phase network, the symbol represent the star connection.
18 .
epbpaer Weatahild st @evarudpsrear @GmMuih erg ?

(A /\ @/Y
(C) __(L (D) .__|_
(E) Answer not known

eflenL Qg Muiafevana
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98. In a parallel IC circuit the frequency is increased above the resonant

99.

frequency. Then, the impedance will be

Qe s QsuurflLir uss Geauldd @earsstiLRnCurg  GNEwens
sletaureang ArGsrenarev A gwerflepwell @flafsEbCung @b ey
GTEaTEUNS (@) (Hd @D ?

{y Decreases (B) Increases
G®DUD fsf @

(C) Remains constant (D) Oscillates
Bensowing @) (mé@h wrpu@LD

(E) Answer not known
el Qaflweildeame

Why the AC Transmission advantageous than DC Transmission?
DC Transmission el AC Transmission g gér Hpssg ?

(A) AC 1s easier to store in batteries
AC g sefide Barsewaid Calssombd

(B) AC can be transmitter over long distance without any losses
AC g fane gmpsde a(hss Cedaugned aps beayLaph ghULTE
AC can be easily stepped up or stepped down using transfers

Blerorpdl  epad ealifld oflafss () GoDss grmaraudager

QFliwend

(D) AC generates less heat in electrical components compared
to DC : : '
AC BerGammiLib 2 pusd QeiybGurgy DC & L @@peuren
Qeutiun QeueaflulHiw

(E) Answer not known
elen Qg Mweidama
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100. At resonant frequency, the impedance of a parallel IC circuits 1s?
@er gLt Qeuurdli uss Qearnded @aansslubwburg QrGsrensren
G f@wendluier @b siev eriitig @) méEL ?

AY Maximum

(B) Minimum

GDDEUNTE

(C) Equal to the series reactance
e NwrsLemevs@ FwwLns

(D)  Equal to the reactance of either the capacitor or the inductor
- QeuurdfllLr sdeg @ &Lt @eaphld gsreg @ardld swowrs
LG
(E) Answer not known
alenL Qgflwelidrana

101. When a housewife accidentally touched the metal part of a kettle,
which was kept ‘ON’. She received shock, The reason is

@@ Qowsar8 ghswers e flevauia 2 erer g Galigealleln 2 Carsl
ugdews Gam L Gung, Bergmy o réd QUpDUILLLTET, HSHSTEN SHjemd
'(A) The fuse wire in the circuit is of higher capacity -
Werandled o_adrer o (pdl &N s SHper QaraLg)
( The kettle is not connected with earth
Qs 14> eang eriig 2L GemanrdbsliuL clldeame
(C) There is no water in the kettle
QL iy edigyer samarfi ggb @eadarssmd
(D) The safety plug has become defective
urgiamiy Yerd upseL bgldTers)

(E) Answer not known
allenL Qgflwelerana
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102. Why is earthing considered crucial in electrical systems?
WBlesr siemwliysefla erigdlis ger waduwrasns smsLiLGEDE ?
(A) To increase the electrical resistance
Wlerr ganL_apw flsfsGe
(B) Toimprove the efficiency of electrical transmission
e &L ggnd Qeuddparar CubuBss
‘/ To enhance safety by providing a path for fault current
UL SrEmB&sTar Lragemw 2 meunsd urgsTuamu GobuEss
(D) To balance the load across multiple circuits
U &hmisefer o erar sanwenw sFwHlereliLBES

(E) Answer not known
dlenL Qafweildana

103. The minimum internal diameter for G.I. or Steel pipe earth
- electrode is ‘

Gl sowg & @lc.prru_l eriig Gra)asljn@asaﬂw @66)5);_5{&,1.1!.& o &1 efllLth

GTGBTGIT ?
(A) 25 mm (B) 30 mm
38 mm (D) 50 mm

(E) Answer not known
cflenL @gflweilcrency

104. The minimum thickness required for plate electrodes made of copper ‘
18
smilggsne QeuwiulL WG aaslgrhisE Cseeuwunar GmpbsuUL s
B LG GTGHTEH ?

(A) 2.8 mm @/3.15 mm

(C) 6.3mm (D) 8.0 mm
(E) Answer not known '
clenL Azflweiicdrensd
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105. If G.I. water pipe buried adjacent to the plate electrode, what should
be the minimum internal diameter of the pipe?
GGer. cre&rmh&E <ipde yemsssiulr GL i @umiss, @prdearn
GPDBSULEF 2 6T ML SjeTe| erenan @)(h&Hs GCeuakt(hitd ?

(A) Zcm (B) 3¢m

@ 5 cm (D) 6cm

- (E) Answer not known
cllenL Qzflweferenay

106. Connecting multiple earth electrode in parallel will
L 6TTE eTedTTHiSenaT @)erammiins QlenanTliLige cllapare,]
M Reduce the earth electrode resistance

GG GTSELITH lengenL. Gondng|
(B) Increase the earth electrode resistance
’ s s TR WesenL idlatsdng
(C) Changes the voltage of the systems
Senwilen eranpsssams wrHmSHDg
(D) Enhances the insulation
BenaGaagemar GuobUBSSEDS

(E) Answer not known
eflenL Ggflweidrana
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107. The principle of working of an induction heater.

108.

Qam_sapar e L Mer @uikg ssg6uD
(A) Production of heat through of resistive material
Wler genLullenm epeud Qeutin 2 HLsH
Generation of an electric current through a changing magnetic

field
wrdlali@hd srhsL@sSen epah arGanmLsems &@@Jrra;@‘g,eu

(C) Transmission of energy through convection
QeutiugFeard epald Hmd LfiorHpbd

(D) Direct heating of objects through radiation
adlreléa papaid Gurmlsaner CHIGUITES GLT& @S5

(E) Answer not known
aflenL Ggflwelicbana

Motor type used in domestic washing machine is
2 &1 BIL(h Fveneu @u.ng,g‘,]mmaasfﬂm @urrg,jsurrm uwsaru@g,g,uu@m Guom_L i
UG

M Induction motor (B) Synchronous motor
@em_dgem Gmmi ArusGrrerev GumLmi
(C) Brushless motor - (D) Stepper motor
Alyey @eeanrg Gomimr evGLLur Gurlomt

(E) Answer not known
cflenL Qgilweldena
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109. In induction heater, the cook-top material is madeup of
Qe sager abl LN gapwd@n Guwd sk Qeuwiiuiin Qurgmer
High heat resistant glass and ceramic plate
<ifle Qauliugeng afliré@Eh samanmy Shsrar 560
(B) Asbestos sheet
SEOBMT S&(H
(C) Mica sheet
MOEET H&(H
(D) Low heat resistant glass and ceramic plate
- Genbs Deuliugmg adlis@h saranyg Sksner $&56

(E) Answer not known
cllen Qgiweldene

110. Using electric mixer, universal motor having 1200 watt. The
operating speed is '
aasl N Wswfled vwuaw@Esstiubin 1200W  Hpenr Qarear. wfleursd
Cum”_Lflenr Geusid

(A) 9000 rpm {/12000 rpm
9000 T 19 eTd 12000 9y, 19 6Tid
(C) 6000 rpm (D) 8000 rpm
6000 97 19 &b 8000 it 19 eTb

(E) Answer not known
elleni_ Gsflweidena

111. 0.5 to 2.0 litres capacity of a domestic kettle wattage
- 0.5 s 2 ALt Qarererere) ALmoevigd Caligedler eum CLgy-

(A) 1500 to 3000 watts (B) 3000 to 4000 watts
1500 (pga 3000 euma 3000 (pged 4000 eumLl e
(C) 350 to 1000 watts d 500 to 2000 watts
350 (Pg@ 1000 G e 500 Wpsd 2000 Gur_ v

(E) Answer not known
elenL Qgfwelidrana
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112.

113.

114.

Speed of mixing the food mixer per minute
2 aoTey sweel Quibdrssler o aey sw&ED Causb HBILsHhHE

3000 to 14000 rpm (B) 1000 to 1500 rpm

3000 (pse 14000 it 19 eribd 1000 pgd 1500 it 19 erid
(Cy 1500 to 2000 rpm (D) 2000 to 3000 rpm

1500 apsed 2000 i 19 6rb 2000 s 3000 T A erd

(E) Answer not known
allen Ggfweldenan

Why a thermostatic device is used in an automatic iron?

sraflwusidl ST Limésendled Qg rGrevLmg & FTSETLD e
vweTu(HSsIIHFmg ?
(A) Speed (B) Efficiency

Geusd Qeswddmer
(C) Weight | : | ¢ Tempefature ‘control

GTamL. Qeutinflene s HULESH SO
(E) Answer not known

eflenL Qsflweddransy

How does a geyser heat water?
&g eTeueumy Beny @ L-M&@GEDS) ?

( Electricity (B) Pressure

' Oenamyd ' SIPSSD

(C) Gas (D) Steam
eury (Gsev) Brmel

(E) Answer not known
dienL Qg flwalcrene
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115. How does geyser maintain the water temperature?
e Sen Bllar Qautiuflenavenws ereucunm LgTwil&E g 2

(A) pump (B) filter
Lb QU &L I

(C) wvalve () thermostat
auréey QgrGumevLm’

(E) Answer not known
- eflenL QgMweiicvenen

116. Economical setting of geyser temperature is
gafler araammlésd Geuliuflensd enwliL) siema]

(&) 40°C-45°C (B) 50° C - 55°C
f s0rc-65°C (D) 70°C—175°C

(E) Answer not known
cflent Agiflwaicveney

117. The primary function of the bimetallic heater in the cooking range is
G&8i Grgréler emu@uoi L abl 1 flan apgerew Qewaun® erener?
(A) To control the oven light
Sipnder enewl el sU_HULBsS
(B) To regulate the temperature of the oven
<ipudler Geutiudlenoenwu @uBIEGLURSS -
.@ To ensure correct resistance for the element
aobwenhsaier sflwrer WengamLamw 2 miF Galw
(D) To measure cooking time
sanwwe Crrsms semelilL

(E) Answer not known
ailenL Qzflweiicena
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118. The primary component under the ceramic plate of an induction

119.

heater is
Qam_saen e LMer Srisner sal g6 S o dtem WP S eTH ?
(A) - A gas burner ' (B) A heating coil

@ erfleumuyy et @@ Geuliuepl (b &(heT
‘9{ An electromagnetic coil (D) A quartz element

@ Blem snbg g(mer @ GGUMTL 6 eTev e

(E) Answer not known
eflepL. Ggfweildvener

The typical power rating range for a food mixer
YO Bgeufiar Qurgiains gnmea WHOSH eurbL] ereres ?

(A) 50 to 200 watts (B) 100 to 750 watts
50 (P 200 eUML6L 100 pged 750 eumL_6
500 to 1000 watts (D) 1000 to 2000 watts
500 (pHe 1000 a6 1000 @pgev 2000 aumiav

(E) Answer not known
edenL Qg flwelildvene
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120. Why changes in the circuit provide different heat in step switch of
cooking range system?
@&Am Crepflen evbLy sl #fle GeucuGauy Qeutiutisemer eupris bl
erésrenr WMHDRIGET Qaliw CeuaTRLb ?
(A) Element size
CTEULDGTL . <B|ETEY
(B) Element position
creoLoarL. Flanew
g Circuit resistance or voltage
shhler Bersel Sidbeag Wleram(psSsid
(D) Power supply type
’ e NEICLITES cuens

(E) Answer not known
eflenL QsfNlweldene

121. The function of protective resistor in DC four pbint starter is
gf 4 um@erl geusdulder (evLmiiir) oeter umgsmTiy  BleTgenLullen
Qewdur®
(A) 'To limit the speed

A Carsgas s HUILHSS
(B) To limit the field current
Jeo@ blenCGarm L seng sLHUURSS
(C) To limit the armature current
B TMo&GT BarGarmmiLgang sl BHLuUbHSS
To limit the holding coil
Gapréig i smuilellen WanGarm L geng s HULOGS

(E) Answer not known
clen QgAwefdena
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122. Why fractional pitch windings used for the D.C. motor?
.8 CurlLrméeE ger Arréseveard & maudimg iy LLaLRSSUILHEDE 2

(A) Increase the emf (B) Reduce copper losses
et @uide ellenserwl ifaflss STy @lieus Ganss
Reduce the sparking (D) To improve the cooling
S0Qunierws Gamnss Getlitdflenw CobUBSS

(E) Answer not.known
eflenl Qgflweildane

123. Ward Leonard method speed control of D.C. motor is basically a
gdl “Corimfler  Ceaiss  sl(uurh  epulld  euri® T SGwmemi
(WPenDWTEeng SilgriuenLuled e(m
(A) Field diverter method

S(H epLeuifLiT (penp
(B) Armature resistance control method

S TDEET Wengen sLGuumri apen
(C) Field control method

daoh scHuur® gpenp

Voltage control method

. Weren(pss SLHLIUTEH wpenm

(E) Answer not known

eflenL Qsiflueildbena
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124. reason for open circuit in armature of DC motor.
g8 GurlLmiler g ros@T Wearsbhdld Snbs &hnésE STERTLD.

(A) Low voltage
GOpiS Bldmanpssd
(B) High voltage
iflswrar Nerer(ipssd
(C) Over load
siflawner L@
(@ Loose commutator segments
sTpCLLLT Qe&sbwamg e saeriey

- (E) Answer not known
eflenL Qgflweldena

125. Why are the DC motor preferred for traction applications?

@ eneu (Lgr&ager)  LweTLm g Hasrér g-&) GuriLmk . e
CaipbshssiubHmg 2

(A) N« la B) T «Ia

&f T=I; D) Te< N

(E) Answer not known
allen Qaflweldena
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126.

127.

The Torque -Load characteristics of series motor
D.C. &flev CurLMer appié@ s LTy

M It increase the torque at high loads
24ls senwsafler Lrrés ofsNsdng

(B) It decrease the torque at high loads
28la semwsafler Lris Gapdpg

- (C) It has no effect on torque-load characteristic

@8 s@w WHHID LTS aThg eflenatapauw|d FHURSSTS
(D) It increases torque at low loads
B8 Gonhs s@wsela LTé wHsNsdng

(E)- Answer not known
alenL AgRNweilcvenay

Why do D.C. shunt motor have constant speed?

. g & agar’ CorlLmi gen Hleavownear-Coussmgs Qaram@ararg) ?

(A) High starting torque
Sifl& evLThg s Lrié
(B) High armature current
28s 2TEwFGT emGarTiL 1D
Because field current constant
Blenewwren S syakmgerired
(D) Motor uses series field winding
Gum_Lrfle Flev @ eeulemg i LweTUBSEGEISTD

(E) Answer not known
efler @z flwelcvena
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128. requires high starting torque.
s oLy Lrid Coena,

(A) Lathe machine Locomotive
Govg Gladler CarsGLomig 6y

(C) Elevators (D) Blower
eredlGeul L fre CiGermunt

(E) Answer not known
cflen Qghlwelldvenc

129. The sum of the Hysterisis losses and Eddy current losses are
aftevLMadley @uotiLsear wHmD agsram’ @pliLasaller ambHgd s

(A) Mechanical losses (B) Frictional losses
Qupdly @otiser 2 Tmie| @LoLL|ser

(C) - Windage losses ) M Core losses
ellarGLgy @liLser Gamit @ipLiL|ser

(E) Answer not known
sllenL Gz flweldrana

130. If the back emf is absent in DC motor then

g8 Gur_Lrflé erflinder Qs oftans Eloara@uiaien

(A) Motor will not run
Gl Lt gLng

y Motor will burn
GurL Lt erflbgy ef(HID

(C) Motor will run at a very low speed
Curiinrr B&s Geopss Ceiagdla @Hibd

(D) Motor will run at a high speed

CumLrt Geuswrs eEIW

" (E) Answer not known
el Gaflwelidrane

438 — Electrician 62



131. How do mechanical losses occur in DC machine?
DC GomLrflér @uipdy @ipuy erdseuny Hapdlemer
(A) Due to resistance in armature winding
< TA&E T eeuliamg i Arflevene Eryamons
( Due to friction in bearing and brushes
Qwifii wHopn Yyeayseflar 2 gmie) smyarors
(C) Due to eddy current in core
Camfléy 2 &TeT 6Tlg HTaT SMTERTLONS
(D) Due to field copper loss

Sd@ sriur QIplil| GTeRoNs

(B) Answer not known
eflenL Qgflweldeana

132. Why a flat compound generator used for lathe applications?
(Cag) asaLsd . Cauamnss Gmn Werm  smbQuerarl. GgmerGriiLir e
uma’ru@gguu@éﬂm@? :

To provide constant voltage output
Syl ige Hlenoowner CaurdGL g aulpris
(B) To operates above rated speed
Biesnfssuiu L. Geussams el ifswrs
(C) To reduce cost of electro plating
Wemapemd yasd Cswameat Gamnss
(D) To simplify the setup

Sjanwtienu erafienliubhiss

(E) Answer not known
dllenL Ggflwelicoanaw
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133. device is used for measuring insulation resistance?
@enaCaapen GyfevLsney SieTelll LWETUHID FTSHEID 6Tg) ?

(A) Earth tester (B) Tong tester
erirdg Qe (I ) VR A T~ VT
Megger (D) Voltmeter
Quwésir Gaumedt L i

(E) Answer not known -
alenL Qgflwailevana

134. The E.m f. generated in a D.C. generator
D.C. QgarGrifed e maunssuu@w E.m.f, (r.enb. GI'Ll)

( ¢ZN><— volts (B) PN volts
60 A 60

© PN A s : @) 2L olts
60 P 60xp A

(E) Answer not known
ellen QAgiflwelcrene
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135. As per BIS 4718 -1975 the terminal marking for D.C. machines,
Identify the name of winding. D1 and D2

- BIS 4718 -1975 uig D.C. gQupdusefier gpaver @Bu@esr, uL s o drer
eeuliamg.h e wmend srars. D1 wppnd D2
(A) Commutating winding
mpGLig i aneuudl ey ki
Series excitation winding
Ffleiv eréensCLager aneuudemg ki
(C) Shunt excitation winding
el arhensGLage eneuufaTig
(D) Compensating winding
) smbdusnGrli i eneuudl ey ki

(E) Answer not known
aflen Qgfweldrens
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136. Statement
Sl
Reason

SMTeRTLD

The commutator in a D.C. Machine converts AC.
generated in Armature into D.C. for the external
circuit.

5.8, @Qubdrsde eemer a&rpCLlLm, FEEE Mo
o paunsstiu@w . ew (AC) Qeaalliyp #HYES .8
wrs (D.C) wrppidme.

The commutator reverses the current direction in
armature winding every half turn. Ensuring a
unidirectional current in the external circuit.
srpCLiLi geaiQeure ey Hmuiugdlain, ofGwsg
aaamg it sHGurensw  Foseow  wrHmfng. Qs
Qavefliyp shpsefles g Hos WaGamisms 2 md
Cewidlpg.

( Both the statement and reason are correct and reason
correctly explains the statement.
Fapp LHRPL srrewd @rerOin sflwraeney, Guogid aTrawh Fmbenm
sflwrs elars@Epg

(B) Both the statement and reason are correct but the reason does
not correctly explain the statement.
gbm wHmD sTyewd @rerhin sllurereael, yeamd srrarbd Flluns
sapenm ellersasalldena

(C) The statement is correct, but reason is incorrect
gpm sflurerg), < ammed sryewld Feuprang

(D) The statement is incorrect, but reason is correct
| Fhm SUDTRIS, U@TTe) &STeid sfluTans)

(E) Answer not known
aflen Qaflwefdransy
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137. Why a commutator required for D.C. motor?

138.

139.

DC GuriLnmée srppCLLi ger CaameuiLbhiéng ?

(A) toincrease motor’s speed
Cor_Lnfler Cousseng 2iflafss

(B) toreduce electrical loss
lelr @IpLILEET GDES

(C) toconvert AC to DC power
AC eow DC veuir 8 wrhp

(M to ensure continuous rotation of motor
GumLrfler Agrefréflurer sppHfleows o mid Qe

(E) Answer not known
eflen Qsfwiefidvana

As per BIS the series field winding terminals must be marked as -
BIS -ér uig &Mev Teo® eveueimng s panasemer @GMA@ELL i

(A) B,and B, (B) E, and E,
B, vpmid By E, vppw E,

" DiandD, . (D) F,and F,
D, wpmib Dy F, wpmn Fy

(E) Answer not known
eflen Qg flweildana

Maximum safe temperature of class ‘E’ Insulation is
Hemmev ‘B Beramiden ungsmiuie sifesus Qeutiuflenad ety

A) 90°C W 120°C
(©) 130°C (D) 180°C

(E) Answer not known
aflen Qgilwaeldrena
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140.

- 141.

142,

supply is given to the External Growler.

(A)

(C)

(E)

slhimarenw Qeuall Crneuairé@ Garpés Cauam@id.

DC G AC

(DCy & (AC) gd
Regulated DC (D) Pure DC

AraGarl DC (148) w198 (L 19 8)

Answer not known
aflen @gflwellevana

What is the name of material used for busbar?
ueumt Qe erhg Qurmer LwearuhissuBHDg ?

(A)
©)

(E)

Brass (B) High speed steel
N5 gener 2155Cals eroeg
Bronze : (DF Aluminium
QeuamsaLd Sigidleflwid

Answer not known
sllenL. @gflweldrens

Control rods used in nuclear reactors are made of

Sign  zaoselld  uwdL@sgind s Cpréd gl )
D (HEUTESUILIL L GI.
(Ay Zirconium ' ‘(% Boron
SrGameflwib Gumgren
(C) Beryllium (D) Lead
GQuiedlww : IO

(E)

Answer not known
dflenL Qgflweildena
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143. Tidal power schemes could not be found economically justifie
because of '
e Blar Pleoowismar Qurmertsry fHurs HumniuGss ey ueldama
6 e ? ‘

y high cost of civil engineering works

Sl @enfleflwfn Coumauien Qe Hiflsb
(B) non-availability of tidal energy in India

@rdHureiledr Frrar sieme SyHnd Hessng -
(C) both (A) and (B)

(A) vomiw (B) @ee GraniHn

- (D) low cost of civil engineering works
feller @erfaflwufin Geameauier Qewa| Gammay

(E) Answer not known
eflen Qsflwetldvenay

144. For which of the following equipment current rating 1s not

necessary?
Heeumb sngamseaild agsn@ sHCurasw wAUShH Cameuuideane ?

(A) Circuit breakers
ssypl. 19Cr&sTEeT
M Isolators

saflenwliLBSHs6r
(C) Load break switch

oo @anL Ceuener aellll &

(D) Circuit breakers and load break switches
gisw 19CT&sTs6T LwHIHWL Few 19Crs sefl_ssdr

(E) Answer not known
e Ggflwaldenay
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145. The function of moderator in a nuclear reactor 1s
sl 2aauld wr GriLfer dewdun ererer?

(A) to absorb the excess neutrons
Sfsiugwiren Bl rrersanen 2 Hlighsousho
(B) toincrease the energy of the neutrons
By grensefienr Hpere iHaflsEn
{(/ ‘to slow down the neutrons
By grensatien Ceussens Gonnés
(D) to speed up the neutrons
By grelr Causseang siflalss

(E) Ans;lver not known
eflenL GgMwalldvenay

146.- Which of the following the connected by the service mains?
Yemeupeuaneupbled ergl siraicn Gulengermed GeneammaslIUL (NeTeaTg) ?

(A) Transformer and earth
Blemordm whmis Ll

(B) Distributor and relay system
AFCuirssvst whmbd NG ey

{J Distributor and consumer terminals
AHCunsevgh whmib meiGeunt QL inderdas

(D) Daistributor and transformer
MFICuTgEevsT WHMLD Llesombb

(E) Answer not known
ellen_ Gz fluaidema
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147. Turbo alternators runs at
LirGur Werwrhdlseailenr Geustb

(A) A vanable speed around 2000 rpm
e wrd Causw swmi 2000 rpm

(B) A constant speed at 1000 rpm
Bavaowrer Geugd 1000 rpm

W A constant speed at 3000 rpm
Berawrar Geausnp 3000 rpm

| (D) A variable speed above 1000 rpm
e wdl Ceusw 1000 rpm &@E God

(E) Answer not known
alenL Qgilweilcdrensy

" 148. In Hydroe‘lastic power plants
Brdler o Husd Hevewikisefler

( Operating cost is low and Initial cost is high
Bwss Gewey @aney wHmIb IbL swa dsd

(B) Operating cost is high and Initial cost 1s low
Aués Qeaey Hsbd wHmID rbu dFRe) G®Day

(C) Both operating and initial costs are high
@ués wHmb YT dFawe @rarEin HHsb

(D) Both operating and initial costs are low
Buss wHMD < rbu CFwey @ramhiv Geane|

(E) Answer not known
cflenL Qgflwelceney
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149. The main sources of Production of Biogas is
&ECY aupmsuulL Qurmasailer aumdeors uCunBsey swrilsstLHdng

(A) Wet cow dung (B) Human waste
IS WML (H& e wellzs &ifleyser

(C) Wet livestock waste (I Anaerobic bacteria
DTN STedBenL. HLUN6&ET snhdlédren Lm&ie Mwm

(E) - Answer not known
aen GQsNweldrene

150. Why is Solar energy considered environmentally friendly?
G HDD g6t 2 LHanm BLLL 6T 2 6Terg

y it generates a fraction of the greenhouse gasses and pollution
as fossil fuels and can have a minimal impact on the land
Qg yeguge efQurmlsans dflarapeieny  eumysseT  wHOID
. IGUTLIRE @ uGHaw e meuns@Ging wHmb Hasdd @Gamphsul e
grésE®E JHUBHSSHID
(B) Dbecause it uses fossil fuel to generate electricity
gaerafldr, @g WenCenmLgang 2 (heunss Ceudimgw erfl Qummer

(C) Dbecause it create large amounts of solid waste
gQarafle Qg =l sere] SLsslleyseaer o (raunsEGApg

(D) because it requires extensive land use power plants
gOarafl® Qspe fleurer Mlou uvwdur @ B Heoursd
Ggmmﬁu@aﬁ]@mm

(E) Answer not known
eflen Qzflwellcena
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151. The function of Surge Tank is to
gig) CLmdler Gaweun® eremer?

152.

A)

N g

©)
(D)

(E)

Supply water at constant pressure
Hlenewwres Hir QeueflGuipHmbd

Absorb the excess pressure rise in case of sudden valve closure
Slelrenr  eumeébay apLiUlLmd fsLguirer  (PSSD 2 WiTemel
2 HlEpabd

Produce surge in the pipe line

@wenuld arpsdl 2 pusdundng

None of the above

CupEHibrL ege|bldeame

Answer not known
eflen @sfMlweiweme

Maximum Wind enérgy available is proportional to
S &s@n sfsul s stppred Wersrgh Spaar siflgrésmy =g ineL ud
AIGECT,

(A)
(B)
(©

o

(E)

air density
srhHdler iLisH

cube of the wind velocity
anpPer Geugsdlen sar & T

square of the rotor diameter

Grymemfler sgip eflC L 1b

all of the above
Cupaadlul Djenengsd

Answer not known
eflenL Qgflweicrency
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153. How many Disc of Suspension Insulated insulators are to be
connected in series for a 66 kV working voltage?
66 kV Cauma baarsssdne assamen Qamiad @ersGaol Lisdr Qg

Qevaniied @enarrasiiLie. GeusrHib ?
A) 2 (B) 3
© 4 Qe

(E) Answer not krniown
alen. Qgflweilcwens

154. Which type of Fire extinguisher is suitable for electricals fires?
Benenrsdearmr ghuBn § Ausdne eeucuams § semerriune LwSTUBHSS

Ceuer(hibd 2
(A) Water (B) Foam
Bir 7 By (s-Gumb)
@ Cco, ' (D) Dry Chemical
CO, . 2 @it @remnuend

(E) Answer not known
ellenL Qgflweilcanc

155. Which part convert potential energy into kinetic energy in tidal
power plant?
L ed (BLeh ene) Wl Hlenawisdle) Hleavownar phpeae Quéss HHpRTs
wrHob Qe Lgdl erg?

(A) Sluices (B) Embankments
| DSEGSET (Eganaa) B sRUY (Genysar)
M Turbines (D) Barrage
eflenswimflaeT (L TenLieei) gyl (CuCrg)

(E) Answer not known
adlenL Gsfweildvena
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156.

157.

If a distribution line and street lighting fixtures are installed. On
the same pole then their span should not exceed
e Wer sbusHea Qgm odats@adr QUIBHSSIUL G HHESTO @@ sbushELb

wHnTE sbusdbEn (span) @e GQeuef IS swrsll(hées
Bh.l_l'l'gj.
(A) 30 metre M 45 metre
30 S i 45 B i
(C) 60 metre (D) 100 metre
60 S 100 BSeir

(E) Answer not known
e Qgflweildaa

Which is a part of over head Line?

geuit Ganl eavafley LwaTUHSFGID LGS
(A) Léad sheath ' aéay wire

Qe als G guiit
(C) Armouring (D) Cable trench
<ol Caller izl (Calle Liyené)

(E) Answer not known
ellenL Qgflweilcens
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158. How is the safety of a transmission station ensured according to

IE Rule?
IE &88leér ug wrreeulleger Heowsder urgsmiy — aeueim
undlsstiuEng)

(A) by ensuring the Transmission station is easily accessible to

unauthorized personnel :
LpreevifNagerr  euGLegemar  simSsfssiuLng purrasen eroflgmes
S SMUSETED

y by placing clear warning SlgIlS and maintaining proper fencing

around the station’
Qgaflaunan erésféms ummasaer aeulILIGE apaapd, G agmens
& sflwrer Gerellenwts LrmofiLige epaapLb ‘

(C) by regularly testing the transformer for leakage of current
BemorpPluiled  Slenafley zerergr  erar  SeuauiGurg  Gersener
Gelieugetr ppaid

(D) by minimizing the distance .between the Transformer and .
Residential areas
L:S\Gm.orrm,rﬁla;@m @ ul(mLLy u@ﬁa;@a;@m Qe Cu 2éteT FGIISs
@@)EI_II_I'QSGN Q.pGDLD

(E) Answer not known

eflenL Gzflwellcrensy

159. The highest possible transmission voltage in India is
- @pdwureile sigioflasiul L iflsules yrrerdvdlager Wledtaripssid

(A) 132kV (B) 440 kV

132 £iGar GeumédL_ , 440 AGer CeumedL_
©) 675KV - gy 765 KV

675 £Ger Geurdrl 765 &Gam Ceureol_

(E) Answer not known
aflenL Qgfweiidena -
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160. The purpose of cross arm in overhead line is
e Qanl eoeafld GM&EGsF s sHer Deudun®

161.

(A)

to hold the overhead line conductors
galfdanl amadr sLsdlaamer iy &g &0 aTerer

W to hold the insulators on which conductors are fastened

©

(D)

(E)

&L 58 QurEpssuuEh GersGal Lisamer 1Y &g s0arerer

to give more strength to the pole
BlenaibLkisEnsE 2ifls eadlabaw Garhiss

to protect the person from electric shock
et ofrFfluled @mbg Wwalsisamer LTGETES

Answer not known
cllen Qg flwelcreney

How much 1s the synchronous speed of a 3 phase induction motor for
a 4 pole, 50 Hz? ’ ' '
50 WflGeuerdler @Qusgnd 4 - Gumd, 3 - Guev @Gem sager Gum i mfler

frusrenarev Geusld eréueueTay?

(A)
©
(E)

1400 RPM Aﬂwoo RPM
1000 RPM | (D) 3000 RPM

Answer not known
alenL Qsflweicdene
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162. Why the starter with a single-phase preventer not start?
Arufler Cuen Afleue it QEmeRTL eoLmiLiT eret @vLmi ypsedidana ?
(A) the starter motor is mechanically jammed

eoLmr_ it Gurl Lt Cssraissed gmb

\(y improper phase sequency
apewpubm Cuev Egeuend

(C) balanced line voltage
Sy eneven GaumaGL gy

(D) the motor’s bearings are damaged
CoriLmmerLw Wwilin GegwenL_HaieTeng

(E) - Answer not knox'?vn
cflenL Agfweilcrens

'163. The monthly maintenance schedule for the AC Squirrel cage
induction motor is to
gl  evghld Csgy Qe sager Cuormiimfier wrsmbdly  Lgmofliy
<3| L_GUeneT L TE g
(A) check air gaps
gt Cali-g CerdlsSLayb
(B) clean and varnish the windings
meueg it Heter QFuig eumiaiey Ceuged
«(C) renew switch and fuse contacts

SEAlE wHHID LILLE STRTLIEL GaneT LgLISsaa|h

M check the condition of the grease

Sfcv—eir saimig apenen FfLMTESe D

(E) Answer not known
alen Qg flweldena
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164. The distance between the centre of two adjacent opposite poles is
called in 3 phase induction motor winding.

3 Guev Qer sagem Guwriomt eeuangiuded Granh OS50S aTHi
Gurasefler enwwsdneGg Qe Guw 2 dter gy

165.

(A)

(©)

(E)

Winding pitch Pole pitch
eneuaig il (9F Gumed Y&

Pitch factor (D) Winding factor
19& GuéLd eeuemig i GuELIT

Answer not known
clent @zsfwefdana

How can the speed of a 3 phase induction motor be controlled from
the Rotor side?

ComiLnmt ens@ampgs 3 Cuan @sﬂru}saq:@fr Gl Lmfler (Beuasgmg GI’G]_I@.]ITQJ

(A)

(B)

- s Grred Gelw gy ?

By changing the applied voltage
stiener(h GeurdGLgh-g wrHmieuSer ppald

By changing applied frequency

(/cwumm@ AR Geuedlenwl ombHmieuSe Q,ocum

D)

(E)

Cascade operation
CaevGai o uCragper

By changing the number of stator poles
G L Curdsallen eramaflsamaaw wrhpieugem epad

Answer not known
cllenL Qgflweflcvenen
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166. Why is the stator of a Three-phase squirrel cage induction motor
constructed with laminated Iron cores?
3 Guav eufed Caav @an sagen GurLmflar aoCLimr ey GCallGar
Sjwirenr CEMTHETTE) HIMOSHILIL g (HLILIS 65 ?

(A) to reduce the weight of the motor

Gl Lnflér erenLenul GevpriughE

- (B) to provide additional mechanical strength
Fhsors @ubSr eudlenweaw eupkis

(y to reduce Eddy current loss
6Ty ST @MU G@DULSHETS

(D) to reduce the cost of the motor ~
Curl Lnflér Qgweamet Gampnss

(E) Answer not known
cllenL. Ggflwelereana

167. Why are contactors often equipped with an Auxiliary contact?
s &Lraatle QupbLTID < seafleneifl SHTEHTL_ &L aren
QuTmSSLILIL HeTeng) ?

(A) to adjust the voltage
CaurabGLgy-enw &fl Qewin

(B) to regulate the coil’s magnetic field
amuliledler Cusarips el @uUBIGURSS

d to provide additional switching functions
Fo.(H e &6l i eudUTHSET auPkIGeUSDHETE

(D) to measure the current flow
‘ srarl LGeatmeney eralih GQeviu

(E) Answer not known
aflenL @gflwueidana
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168. How does an Auto-Transformer starter achieve a soft start to the
motor?
@@ < CLr oreérebumior evLmiLi erliLg CurlLnmées Owerewwre

QgT_sssms aflEdng ?

(A) Dby using a variable frequency drive
Goulwller Wf@geuend]l Lanreuanw LwaTLHiSS
(B) Dby directly applying full voltage to the motor
- GumiLmméEg Crrigwns (i Wetanpsssamaubd Gaass

(C) Dby varying the motor’s frequency
Gom L Wfl@Geuerfleow rHmIeUSET epaLd

\(y by-reducing the supply voltage to the Motor initially -
< rbugHa Cuor Lrmse slenear CauradGLy-8 @GmpLiLgET apaib

(E) Answer not known
eflenL Qgflweldena

169. If an AC ceiling fan, capacitor is replaced by a choke, the fan will

@@ agf  baelfHlbld Qeurfmég uvdons Cors  Geanausgmed
W erel A Hwirarg
(A) be damaged
L(pGenL_L{D
y not run
P

{(C) move with greater speed
Ceuaons ehib

(D) move with low speed
. Qwgleurs @b

(E) Answer not known
eflenL Qgfweiidana
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170. Most of the single phase motors are pole machine.

Qupurerer Ander Cuev @em SGoper GmLL Mg FI(HGuLb
QarairL @uibSrhiserT(EL0D.
Aa) 2 (B) 4

s D) 8

(E) Answer not known
éflen QgMlweldane

171. A capacitor start, capacitor run single phase induction motor is
basically a _ . .
Qeurfll L euimit, GesurdiLtr gear ecuensd Hmdler Cuev CumiLmyreng

Siig liLien L uled Gl L rgm@Lb.
(A) AC series motor (B) DC series motor
gé &fev Gumlnmw 48l Fev Gl
" Jd 2 phase induction motor ~ (D) 3 phase induction motor °
@rawh Cuev GuomLmi 3 Gueiv Gom i

(E) Answer not known
cllenL Qgflwelerened

172. single phase motor which has highest starting Torque.
auens Smdlar  CGuev ComiLmrersy oifls geass
sphpisSneaar dubpmierarg.

(A) Shaded pole motor (B) Universal motor
Go. CGume Gurlni wyafleureed Guomi i mr
- (C) Reluctance motor _ \(y Capacitor start motor _
MevsL_amey Gumi_Lmir GQesurd i eomit Curl_Lmi

(E) Answer not known
edlenL Qsflweldena
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173. A ceiling fan of 48" sweep will have motor rating of

174.

48" smgob sl CsrarL qm fdev Cuesr GurlLmir
SieTeney QETaTiy (HEGHD.
(A) 25 to 50 watts G 60 to 75 watts
25 s 50 eumieiv sueny 60 s 75 aurt 6v eueny
(C) 100 to 150 watts (D) 200 to 250 watts
100 @z 150 eumniav cusny - 200 qpge 250 eumev euent

(E) Answer not known
ellenL Qaiflweildane

The purpose of the shaded coils in a shaded pole motor is to
GeL. Gumed CuomLmiler 2.arer Gaigi srufled Crréasdnans
2 &Teng).

(A) reduce friction loss
2 gmie @lientis &anss

(B) reduce Armature reaction
& Tn&@ET Nunsesemer Gmnés

(C) reduce rough commutation
ool &TAPGLFDETS (HODES

produce rotating magnetic field
FPQILD SETHFLILOSHS 2 (HeUNES

(E) Answer not known

aflew Qaflweiidena

83 438 — Electrician
[Turn over



175. Normally the ratio of width of brush to width of commutator
segments
Gredlen oswsdhEh, sTlLLLr QFstwa. sashEnd o der Nfgn
Gueurer Heeuild

(A) L1 (B) 1:2
(9' 2:1 (D) 4:1
(E) Answer not known
elenL Qgflueidene
176. motor is normally free from much mechanical and

magnetic vibration.
CorlLrr  oerg  ofls @Qubdreilud wLHMDL  EHS
sfltasaiier Gupg AGUESDS.

(A) Split phase motor (B) Shaded pole motor
edh9ledl . Guey Gumi L mi ) Ca Cumed Cume_cmt

(C) Universal motor hysterisis motor
whefleuiaged GumLmr alevMgev GomlLmi

(E) Answer not known
eflenL Qgflweldana

438 — Electrician 84



177. During plugging of an Induction motor
(m Qe sager Gurl L mflédy Wersdi ghu@eug

M any two phase is interchanged
gsmeugy @rem® Gueavad wrHpULIHS DS
(B) power is fed back to mains
veuit Serr(b Gouflenevs@ euPRALIUL g HSSH
(C) one phase is open circuited
@ Gusv Snis adPTE GBS
(D) a DC source 1s connected to stator

euGLLLTT 1.8, slemanyLen @ememssiul (h Blmsse

(E) Answer not known
e Gsflweiidena

178. A Direct online starter is necessary for a single phase motor of more
than one H.P. for -~ ' ’

owm H.P.&@ sidswrar oearey Qemeare dmdar Cuev Gum o misEnées
LIEL DLET@EET GULTTLT LweTufSgleugen Crrdsid
(A) starting the motor only
GuriLmeny gleusshd GFiieugi@ DL (HID
(B) stopping the motor only
Coriemenr fimsseushE WL (Hib
providing overload protection to the motor
palfCamgd @mbg CuriLray ungsrss '

(D) reduce the losses of the motor
Curiinfler @lLsames Gamnss

(E) Answer not known
eflen Agflweldena
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179. How the starting and running windings are wound on the stator?
GGl Lrmfles  euLmitiigim  wHpL  Jaweln  eeudTgRIGSET  ereueumm
ahoLuBHDE 2
(A) at 45 electrical degree at each other

peamstareany 45 s Nsd dduld
\(y at 90 electrical degree at each other
gamstareaiy 90 casMNsd ydflulld
(C) at 180 electrical degree at each other
' gapstarang 180 srast Nad wdRuld
(D) at 360 electrical degree at each other
geamistararny 360 eras Naw gdfuded

(E) Answer not known
dllen Qgfweildvene

180. Rotating Magnetic field is also called

FP® &THS 1S0H @Uuguh Sep&sinpHb
(A) Stator speed MSynchronous speed

G Geustd Hrusienerev Cousld
(C) Startor speed (D) Zero speed
eoLmirit Geusd egur Geusid

(E) Answer not known
e Qgflweilcena
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181. The error caused by the effect of vibrations is
2iflirellen efleneneuned erhubd Wen

182.

(A) Device error (B) Switching error
&(mel (Hanip sell & Genp

( Influence error (D) Human error
@ayemuweiay [ apLp wafls Genp

(E) Answer not known

alilenL. Qzfweldens

How does the value of a Multlpher Resistor affect the measurement
range of voltmeter?

wegQemerwir Grflevflesr wHuunarg Ceurl B fer eameil( curbenu
ereueurm uN&dma) ?

(A) A lower resistance value increases the measurement range

Gopps Arflevdrey whiiy seneil (h eupberr S &MNsHDg)

(B) The resistor value has no effect on the measurement range

(

QrélevLit wdiy erei (B curbliléd et eSlenaraneuud gHuLbH TS,

A higher resistance value increases the measurement range
<8la Grélevsmey wHiiy derel ( augberu siHsfsdmg

(D) The resistor value decreases the measurement range

Qrélevit by Serei () aurbeL GamnsESng

(E) Answer not known

- eilen Qgflweiideana
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183. Dynamometer type instrument works on the principle of same as

like
oLaGomblLi  euams  @éerevl (Hawer GuraCau
Qeweuhdmg.
(A) AC motor M DC motor
a8 CumlLmi 14 & Guomlmr
(C) AC Generator (D) DC Generator
g8 QgmerGrii | 4§ QepenGrii

(E) Answer not known
ellenL Qsflweicwene

184. is used to get on the spot true power reading.
Lap Lef-gg oL Gar eteifh Qe vwsTuhieug
(A) Energy meter (B) Ammeter
ereoitgdl Lt | . DB
(C) Kilo Watt hour meter M Watt meter
fCeom eum’ emeuir Bt eum’ Bt

(E) Answer not known
eflen Gz flwaldene
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185. Creep error may occurs in induction type energy meter due to
@em_sexenr cuens ereigd WL Meb arremsdermd &0 Genp
e HUL_Qmb.

W over voltage across voltage coil
geul GaurdGLgh isgravr GeurdGLgy smuied

(B) 1incorrect position of brake magnet
9Crs Gudan gen geupner Guréleen

(©) incorrect adjustmént of position of shading band
Gagigr Guamgen Qurdlsafler seuprer L gevE e
(D) increase in temperature
QautinBleney idlasiy

(E) Answer not known
eflan Qaflwueildane

186. The primary purpose of an extended Voltmeter is
ergev@Ler. ® (Blyssiiul L) Caurdwl B Lfer apsatew Cpréswrang

(A) to measure current in a circuit
sl e WerGamiL g Ijareil

(B) to measure resistarice of components
snbCurCan seaflér WBenganLanw jarell

(C) to generate electrical power
Wenamyd 2 Hugd Qe

M to measure very high voltages
Ble sifls Waranpsssamns iemall

(E) Answer not known
eflanL Qzfwelidanay
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187. In an AMR system type of data is typically collected.

@  G.erb.yr. S gl s srey CQungeuns
Gaaféasl LB ng.

y energy consumption and usage patterns
aranrgdl Blapa| whmb LweTur () (PDEET

(B) temperature and humidity
Qeauulensy wHMID FFLILSLD

(C) water quality and pH levels
Bfler b wHmD 19.678. ieTey

(D) light intensity and soil moisture
el @l whpib wemenilen FylLIgLD

(E) Answer not known
dlen Qgflwelidana

" 188, —— force is required to move the pointer from zero position
1n an indicating instrument.

@emg Cal g @emevl (FAwen - Bud ey yihw Bleaaudd @mbs BT
dleng GCaeeuiuhdmg.

M Deflecting force (B) Controlling force
efled allens (gLiwsligk aflens) SUQUur @ elens

(C) Air friction damping (D) Eddy current damping
o Af&ger GLibi9nm 6Ty &reRTl GLibilgms

(E) Answer not known
sllen L Qgflweldrena

438 — Electrician 90



189. The principle make the instrument transformer works
gsgiugSlen siglumLuler Gemevl HEWeT 1 FTeTevLImiTDT
Ceuener Qaflpg.

(A) Self induction (B) Lenz’s law
Azl @en_saan (Fw Grehrme) Qeveran el

M Mutual induction (D) Fleming’s right handrule
Bl seuch @lem saehr Gembiniey euwsms cilgl

(E) Answer not known
aflenL. Ggflwefwena

* 190. The internal resistance of an ammeter is
s B L Ner 2 61 WengamL

(A) zero : Mry low

BBy s Geopey
(C) veryhigh - (D) infinite
W& iflsLb Wiyeddarsg

(E) Answer not known
allenL GgRweilcene

191. Luminous efficiency of an fluorescent tube is
yGermyaan. Gewis-ar grilarey efllenerdlpeir

(A) 5-10 Lumen/watt (B) 15 - 20 Lumen/watt
(C) 30 -40 Lumen/watt J#7 60 - 65 Lumen/watt

(E) Answer not known
allep QzRwieiidena

91 438 - Electrician
[Turn over



192. The power factor of an incandescent lamp 1s

o @aGaan_gean. Gabl-ar Ler GusLi

Sy unity
T[S

(C) around 0.5 leading
gomi 0.5 Sy

(E) Answer not known
- ellenL Qsflueiidana

193. In sodium vapour lamp fitting,

DD

(B) around 0.5 lagging

swmr 0.5 CGeodlm

(D) zero

LpgRuwiILD

performs the Ignition

Voltage initially and Act as a choke for limiting the current.

Gemgwib el eflerd@ i,

g QENoy@SE

Berarpsssens wsdle Csrhisdpg. Gery efletaE erflu = TbAs5e| 6

215y Caeneuwnan eney WanGarmLgeng QsrH&ELb.
J Leak Transformer ‘

&86 1qTIEEVLITTLON
(C) Thermal starter
@smoed oL

(E) Answer not known
eflenL Ggflweidene

194. The Unit of Luminous efficiency is
enilersv eleendpallen 2@

(A) Lumen * Watt
QDG * Gumi_

\(j Lumen / Watt
QLG [ euml

(E) . Answer not known
eflen Gsfwefdana
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(B) Capacitor -

Qastiurd i

(D) Glow starter

&Qerm Lt

(B) Watt/Lumen

QUL [ DG

(D) Lumen + Watt

QITLDGHT + @



195. Why do LED bulbs achieve “Cool” in operation?
a0.@.q. (LE.D.) ueysédr gear Qeuoum g galliddurs Qmsdamper?

(A)

(B)

(D)

(E)

it has a ignitor

SigD @ uppereuiLy (@saflC.Lymer) 2 drerg

it has a gas discharge

2fe eumyy QeuellGupnsaws Qsramiererg

- because it has no filament

2fle Gevpaer (NeGwer) @dame

it is kept in glass

@5 sanamTguie aeussLL ([HeTarg)

Anéwer not known
dlen Qs flureferenc

196. The Colour emitted by a Halogen lamp is

@Drr('éa)rrm eflens @

(A)

g

(E)

blue

Bow

white
QeudTenar

Answer not known
eflenL Qgflwelcrena

197. Sodium vapour lamp gives

Gamgwib <yl cllard s,

A)

©

(E)

Ppsde geflow smo.
(B) green

uFeng

(D) red
e

colour light.

‘white

QeudTener

blue

FBarid.

Answer not known
efen Gasflwelwenc

fpsdd gafssdar GaeliGubmib.

yellow
LD{@RFETT

(D) green

LiFeng
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198. The amount of light emitted in a given direction by a source 1s
e posddmpg (Garidn) Mot Hasuld CeuellGu aumb geflanw

(A) Frequency
9fGeuend

(©) LUX
&6

- (E) Answer not known
eflen @gflweidencw

Candle power
Caemg b ueuir

(D) Wavelength

Ceucuaens

199. Luminous flux reaching it perpendicular per unit areas 1s called
(T G]eusrﬂuqmﬁ]aﬂ e @ uTndheE Qeugssts gall Qeapar_cuans —

G0

(A) Candela
Caemgeon

" (C) Lumen
GTLOGHT

(E) Answer not known
cllenL Qzflweldens

Illuminance
gafl siewiiy (Gayliarev)

(D) Flux

Heod (SGlerdeiv)

200. lamp is the higher light output.

senL&EDg).

( coiled coil filament
smufle® amuiler @enp

(C) vacuum
' Cleuhdl

(E) Answer not known
eflenL Qgflweidens

clatsE vwaTuBSgusen o sfswrer  GeelFsbd

(B) single coil filament
Ariger smuiedr @enp

(D) tungsten filament lamp
LrareoL et GlenLo
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